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Run 5618 quartetwise, posH(O: Beam DH

Run 5618 quartetwise, asym0Osub: Beam ON

— Laser ON Entries: 13562 Entries: 9395 aam1_1ach._pocHo
- Mean: 12,9841 +- 0.0063 Mean: 1.3482 +- 0.0020 9395
— Laser OFF Std Dev: 0.7204 +- 0.0044 | Std Dev: 0.1947 +- 0.0014 1.348
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Run 5618 quartetwise, negHO: Beam DIN

— —— Laser ON Entries: 13562 Entries: 9395 aami_Iach_nogHi

- Mean: 12.2690 «- 0.0050 Mean: 1.3456 +- 0.0020 9395
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-------- Histogram Vars

Positive Hel (ON): 12.984133 +/- 0.006263
Negative Hel (ON): 12.268963 +/- 0.005914
Positive Hel (OFF): 1.348240 +/- 0.002009
Negative Hel (OFF): 1.345559 +/- 0.001999
-------- Sums and Diffs

On Diff: 0.715170 +/- 0.003865

Off Diff: 0.002681 +/- 0.002584
On Sum: 25.253096 +/- 0.011552

Off Sum: 2.693799 +/- 0.003064
-------- Asymmetries
On Asym: 31.701790 +/- 0.172137 (ppt)
Off Asym: 0.118824 +/- 0.114536 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 22.559297 +/- 0.011952

BkSub Asym: 31.582967 +/- 0.206760 (ppt)
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Run 5618 quartetwise, posHO vs time
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Run 5618 quartetwise, asymQ0sub vs time
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Run 5618 quartetwise, negHO vs time
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Run 5618 quartetwise, bcm vs time
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